
MB5069-02

Qty 4

MB5069-01

Qty 4

5/16"-18 x 1" HEX BOLT

Qty 16

5/16" FLAT WASHER

Qty 32

5/16"-18 NYLON LOCK NUT

Qty 16

motobilt.com | 334-219-2333

MB5069 - Assembly Instructions Motobed Tire Carrier Rack Basket Adapters

REV: 

2

Contents



motobilt.com | 334-219-2333

MB5069 - Assembly Instructions Motobed Tire Carrier Rack Basket Adapters

REV: 

3

MB5069-01

5/16"-18 x 1" Hex Bolt

5/16" Plain Washer

5/16" Plain Washer

5/16"-18 Nylon Insert Hex Locknut



motobilt.com | 334-219-2333

MB5069 - Assembly Instructions Motobed Tire Carrier Rack Basket Adapters

REV: 

4

5/16"-18 x 1" Hex Bolt

5/16" Plain Washer

MB5069-02

5/16" Plain Washer

5/16"-18 Nylon Insert Hex Locknut


